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Note: Section 'A' & ‘B’ containing 2 very short-answer-type questions, is compulsory. 

Section 'C' consists of short-answer-type questions and Section D is long-answer-type 

questions. 

Section - 'A' 
Answer the following very short-answer-type questions in one or two sentences:                                                                                            

                                                                                                                                              (1×2=2) 

          Q.1 What are the primary function of each layer in IoT Architecture? 

                                                  Section - 'B' 
Answer the following very short-answer-type questions in one or two sentences:                                                                                                                         

                                                                                                                                             (1×2=2) 

Q.2 What are the 4 types of IoT device? 

Section - 'C' 
          Answer the following short-answer-type questions in one or two sentences:                                                                                                          

                                                                                                                                              (1×6=6) 

          Q.3 Explain about the deployment model in IoT? 
. 

OR 

 

      What are the design principles of the IoT system? 

 

Section – 'D' 

         Answer the following long answer type questions in word limit 150-200:                                                                                              

                                                                                                                                         (1×10=10) 
 

              Q.4   Explain IoTivity Stack Architecture. 

 

                OR 

               What is Open Source Architecture in IoT? 
 

 
 

 


